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Worksheet

Unit 2 - Chemical Equilibrium
3 melsa gos | 1male aas
CO¢g) + 2H 3¢g) &£ CH3;OHq, AR =-75.2 kJ .
d) Ha gas is removed from the System. .. ooemwers e mensenes Answer (-g“-o“ decvense s (zh s IEI*:)\K

)
) A catalystis added. e Answer 10 Clonzz,

) The rotz! volume of the ooxEta.iner is increased............ Answer _Pg:g_‘ﬁ_dg_czmséa_éh!ff k#{-)
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reaction: oles 2eed ops

2Ny £ gy = 2N 9*%*77 K £x0
statetbeopdnﬂlmaﬂtempeﬂtmeondiﬂomnecm for maximnum
production of NOCL.(yow want & to shift right and Qrodut mot MOct)

1. hlgk/ P 2 l ou’ temperature

For the reaction: 4 molse Gas JW‘GW
3Hzg + N2igy & 2NH3g) + heat

state the optimal conditions fora hig-h yield of ammonia (NH.

1. h [%‘_L/ pr e 2 7OW teméeramre

Given the following equilibrium system, state which way the equilibrivm will shift when the
changes below are made:

zc,n,(j # 702(‘:, = mo’zf,."f&;a?;&;, + heat N
a) ﬁewMMofthcconta{g:%Q\ggd) - A /eﬁ
b) The temperanre is decry d Answer 4 ’241:6
&)} CO; is added to the container. Answer fg'p‘l—
d) The total pressureisi d Answer IG‘F""
€) O gas is removed from the SYSEM ..v.rmeemeemsereereernes Answer {QWO‘P"
f) Nedn gasis added to increase the total pressure ........ Answer ne- @'P—f-
h) A caralystis added Ans o 5},,'{9{'
Using the equilibrivm: . N0

N + Ozg + heat 3= 2NO(p "mia

Explain why nitric oxide (NO) does not generaily form in the atmosphere but is formed in the
internal combustion engine of an automobile or during a lightming storm.
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